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SH ME
Mz HMSAHH (MEH)
erel: Jl= 2| (29 a8)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O ag=4 7,020
— 29X 60,000& * 117 7,020
Oz g 5,720
—- 2A2Y BUNY
8,000& * 11H x 654! 5,720
02 53294l 22,000
O 2222 2 HMA 15,000
— dIe=2 900,000 = 12& 10,800
- RER2 100,000& = 12& 1,200
— ALEER=2 Y JlE 250,000 = 128 3,000
O 9 Z dl 500
— e & B ASH|
100,000& = 5& 500
O A& &Ed KXl 3,000
— SH HAEK XY 3,000,000 3,000
O Xtk . &ty 3,500
— #EXNYE REUH L 22 3,500,000& 3,500
202 044l 31,400
01 2LHOHI 5,000
O BA2Y SHAHA 4,000,000& 4,000
OJIg & EXNsX &g 1,000, 000& 1,000
02 2 40| 26,400
O SHNAA EHAHHI
200,000& * 114 * 12& 26,400
203 ¥R =&XH| 9,380
B EEEEEE T 5,940
O ZX2g, KBS S M22aay|
6,600,000 = 90/100 5,940
02 MM REA Y| 440
O #u2E, WSUE S NAAIXE
40,0008 * 11 440
04 ENSHLRE=XH| 3,000
O BASRIILI=X(HE 1Y) 3,000
— 15¢Q! 0l3at 250,000 = 128 3,000




